20212022 F 7 R AERETELFLE (L) BPRE

%}-Z,

4

}?_.'I-I—: }1%7}}\7‘91207,}&

—. #&HFE (AKM*H10)0E, &) M35, $#£3045)

L. £-0.15. +1.3. 0. —%am/l\zsﬂﬂ, B R

A. =0.15 B. +1.3 C. 0
2. T HE (-2 iFLE R R )
A. -6 B. 6 C. =8
3. x=— | R FHMA GG )
A x-5=6 B. %x+2=6 C. 3w+l=4
2 S g
4. |—§|é{37]:ﬁfi:ﬂ§[i€( )
i~ g 2 L &
. 2 3
5. T 38 H E A4 69 A& ( )
A. —2(a+b)=—2a-b B. —2(a+b)=—2a+b
C. —2(a+b)=—2a-2b D. —2(a+b)=—2a+2b

6. FrEPEHMGAE( )

. ‘ 2
A X 3%53” W KRR, kA2
B. ¥ X—15ab® & A 15, KRHE A2

C y—1

RZIRZMK

D. %3 XAx>-389 % H 0 A3

7. g =423, bAMALE, Far by A, PIT 45 69 AL B A (
A. ab B. a+b C. 10a+b

8. KA X242 +T891H A6, Wdy2+8y-5SE9EA( )
A9 B. -9 C. 18

1/ 3

D.

4x+4=0

)
100a+b

-18

BB



9. X Tx, y89% M E‘Q%xzy—7mxy+%y3+6xﬂh B )G ANa =R, Mm=( ) IR E BT
A = B. 2 c. -2 D. 0
7 7 i

10. %2 Ra>0, b<0, Hlal<<Ibl, W] 3| E 5092 )
A, a+b<<( B. a+b>0 C. a+b=0 D. ab=0

=, BZE (AXEEINDAE, )45, £28%)
11. 42 X80m%& T 19 A £80m, AP A-60m* T

12. % B 8947 K & A7 29 #370000km?, iF B A ieH k& T km?.

13. FH IR X3abmFe-4a"b2 B XN, N mtn=

14. & #nlal=5, bI=7, Hla+bl=a+b, Wa—-baJ{EL A

15. tHAA%3.20 X 10045 #4 2] {% .

16. #&12a+31+(36-1)?=0, W ab= S

17. MET I HE KX 12-0%2=140=1: 22-12=2+1=3: 32-22=342=5. 42-32=4+43=7: 52—
4°=5+4=9; - EFBnk T ARK, FHRARIGAERN Gn X T EATH %

=, BEHE: (FXEHX8IHE, 162%)
18. #H: 16+(-25)+24+(-35).

19. B 7 42: 2-3(x+1)=1-2(1+0.5x).

20. tH-52-[(=2)3+(1-0.8 X %)+ (=2)].

273



21. A fd, HBKRAL: da?y—[6xy—2(day—2)-x2y]+1, ﬁ:—ﬁsz:—%, y=1. I E B R

22. % % | X562y ™ +(n=3)y*2 & % Fu. yWH R AKX, Km*—2mn+n?t914.

23. A Fa. bEFK I L&t 45 F o B .
(DHE] “<” i%;}%()‘\ —a~ _b‘\ _

R« lal-2la+bl-1b-al.
e | | 9 | >
] 0 1

X hAMEEW RRANGHR, EABH@QR L EEEESIHEA, THEAZITEH A

A 45, 42, -4, -3, +I0ALE@MAAE, qBH R, Fia: FX)
(WVEE T FSHEAE, ZERRANSOHATH? SEHAEZ VT R?

Q)% Z HALE T K502, WAEX NFAEP LGS VA2

(3 )%’t 1% B A& A AR E AT B ATAZ LT R 10T, BA3TFT KRG, HEHET K
1.8, AXiTA2EE R EIKIER S V2

\H’,

25. I T 7| & H K
143=4=22, 143+5=9=3%, 1+3+5+7=16=4%, ---, A
(1)IXAF A8 s 14+3+5+7+++-4+2005+2007 4948 7
(VAT 143454749+ +2n—1)+2n+ 18 Fe £ % ) 7

3 /3





http://www.tcpdf.org

